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The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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| Question Working Answer | Mark Notes
@ | Gx9+@x15)+(16x29)+ (10 M2 freq xall comect midpoint values stated or evaluated
Xx35)+(4x45) {donot have to see infention o add)
0ot M2 then M1 for freq x consistent point in each iterval
, | (Frx=860 or 1260 start & e pons).

or M1 for 1 error n lstof 10, 120, 400, 350, 180
or M1 for 4 comrect products stated.

1060 Al Accept 26.5if M2 scored.
® | 1square = 5 (potatoes) ™I
or 1 small square = 0.2 (potatoes)
or corect fd calculated (10 = 50)
(=02) or marked on vertical axis
with no errors. 8| 2 |m
© [ @9) 12+ @50-300) (= 0.08) MI
comect | 2 [Al  Aea block from 300 to 450 grams at height 4 small
block squares

Total

-y
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Question | Working [ Anmswer [ Mark Notes
Bars of M for use of frequency + class width may
height be implied by 3 correct bars or 3 of
12,2,2,36 6=5(=12), 10 = 5(=2),, 20 = 10(=2) ,
14 36+ 10(=3.6) , 28 = 20(=1.4)
M1 forat least 4 bars correct or
allof 12, 2, 2, 3.6and 1.4 (can'be
implied by correct heights)
comect| 3 |Al fully correct histogram
histogram

SC: B2 for all bas in correct proportion
but at wrong heights (unless rescaled in
which case full marks are available)

(eg heights of 0.6, 1, 1, 1.8, 0.7)

Total 3 marks
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Working | Answer | Mark Notes
6
377100 | 1875 2 M1 Allow "32" from evidence of
& adding frequencies
A1 Accept 19 if the correct method
or 18.75 seen
(®) [ (7x10)+(16 M1 fx X for 3 products with *
X30)+(3x5 used consistently within interval (incl.
0)+(6x70) end points) & intention to add
SR— i(dep) use of correct hlf way
+ 150 + 2
o 1120
32 implies M2,
1120 3 AL cao
Total 5 marks
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Q Answer | Mark Notes
(0] M1 1square=10 people
orany correct fdvalue
120,200 2 | seenin correct place withno
errors
AL bothvalues correct
) Blocksats, | 2 | BIBL forall 3 correct blocks,
1,2 squares 8180 for 1 or 2 correct blocks.

Total 4 marks.
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Q ‘Working Answer | Mark Notes
® [5x8 M
Or any comect fd marked
40| 2 | on vertical axis (2, 4 etc) with no amors
or 1 square = 4 students
Al
Missing blocks = 7 |B2
i) | Sem, 6em, 1.5am 3 comect blocks

Ifnot B2 then B1 for 1 or 2 correct
blocks

Total 4 marks
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Working Answer | Mark Notes
Blocks at 3 B3 for all 3 blocks correct
heights 2.4, (82 for any 2 blocks correct)

6.8, 3 squares

(81 for any one block correct or
for correct frequency
density calculated or marked

(0.8), 1.2,
3.4 and 1.5) or

1 square = 2.5 people
stated or

1 person = 10 squares)

Total 3 marks
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Working

Answer

Mark

Notes

@

2+4+9)

15

M1

Al

5
For 15 or 0.6 or
02x10+08x5or2+40r6

For at least 1 correct frequency density on
scale without incorrect values (lem = 0.1
fd) or

For 1 cm square = 0.5 person oe stated.

®)

drawn

ML

Al

1z 4
25 or0480r 5 ord48or
a bar drawn with the correct height

48 cmhigh

Total 4 marks
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Ques Working Answer | Mark Notes
360 = 9 =40 (per cm sq) or 3 M1
360+ (9 x25)=1.6
740" 19 0e or M1 dep
TX'40" + 6 x "40" + 6x"40" or
280 +240 + 240 or
19X 25 X “1.6”

760 Al
Alfernative method M1
2ax12+6a x 8 =360
3605 na M1 dep
72
14X5'%4 + 12X'5'%4 + 4x'5'x12
760 Al

Total 3 marks
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Question
Number

Working

Answer

Mark

Notes

@

3.6+20x 100 o0e
(large squares or
heights of bars)

or (6+6+6)+
(10+10+8+35+19+6
+6+6)x 100
or90+500x 100
(small squares)

18 3

M2 afulland correct
calculationleading o correct
ans

heights =
242+1.6+7+3 8+1.241.2+12
(=20)

or

10+10+8+35+19+6+6+6
(=100)

ifnot M2 then M1 for 3.6 and
20 (large sq or heights)

or 6+6+6 and
10+10+8+35+19+6+6+6
(heights)
or 12+12+12 and
20420+16+70+38+12+12+12
(frequencies)

or 90 and 500 (small
sq)
Al Ansonly=M2A1

®)

20x10

M1 or I (large) square =
10 (people)

or 1 (small) square=
0.4 (people)

or comect fd seen with
no errors

or16+5(=3.2) {fd
on 3% bar}

or
20+20+16+70+38+12+12+12
(people in blocks)
Al Ans only=MIA1

Total 5 marks.
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‘Working Answer | Mark Notes
Frequency densities M | For 3 or more correctly
12.28.1.6,04,02 calculated freq densities o
For a correct scale
indicated or
1 small square =1
(person)
1 big square =25 (people)
M | For at least 2 additional
correct bars (with or
without scale)
Tmplies first M1
A fully AT | All 4 additional bars
correct correct
histogram
® [100 7| M | A fully complete method
150 240+ 1000r 1.6 100+ 100 to find the mumber of
or “160” + 100 0e people who took from 200
1 to 300 minutes + 100
or 600~ (120+140+5 % 240) or
600—(120+140+50x1.6)) or
600-3400¢
260 AT

Total 5 marks
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[Question] Working Answer |Mark] Notes

20 150 or 22 or 300 M1 For one correct bar drawn or
%855 Odys one correct frequency density, not
or 2z or 190 or 1z or 30 including 0 << 1 or

1 small square =1 or

1 large (em) square =25

M1 For three correct bars drawn or

300, 190,30 three frequency densities, not

including 0 <w< 1
heights 3,6,3.8,0.6cm _fcorrectbars) 3 | A1 All bars comect.

Total 3 marks
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‘Working Answer Mark Notes
270+ 60 (=4.5) or MI | for use of asea
150 =30 (=5) or 156+ 120 (=1.3) or eg. any one correct fd o
24+60(=04) any 2 correct bars of
different widths
- 2.45.5.13.04 M | for any 4 correct fd or bars
histogram | 3| Al | for a correct histogram,

including frequency
density (D) label and
scale/correct key

Total 3 marks
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Question Working Answer [ Mark Notes
Number
(0.5 x 160), (2 x 50), MI__forany two or 3
(1% 25) clear indication that 1 car
80 + 100 + 25 3 | =1small sqor 25 cars =
205 1cm?
M1 or8.2x25 oe
AL
Total 3 marks
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Working | Answer | Mark Notes
M1 Corect fd calculated (or marked on vertical axis
with no contradictions).
or28=2orla
0r 32,20, 12 frequencies assigned to correct blocks
or 1 e’ = 4 customers oe
or 1 small square = 0.16 customers oe
(B (5x)+(3x4) M1 Correct calculations to give 3 correct frequencies
or 0.16({5x40}+ 64| 3 with the intention to add (32 +20 + 12)
{10x12.5}+(30x2.5})
Alcao

Total 3 marks
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‘Working Answer Notes
@ |1 Square =05 or 2 squares = 1 MI 1 Square = 0.5 or 2 squares = 1
oe
o8 (1 - 2t Or correct fd (104 =2) calculated
5 or marked on the vertical axis with
‘marked at correct place on 1o contradictions
vertical axis with no M1 Complete method to find total
contradictions number of children. eg 10. 10, and
15 frequencies assigned fo correct
1%1042x5+3x5(=10+ blocks
10+15) oe 35 Al
® Correct BI
block

Total 4 marks
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‘Question ‘Working Answer | Mark Notes
G1x10)+(22%20)+(09%30) + M1 For  correct method
(03x60) to work out the fotal
or31+44+27 + 18 (=120) area (by using fieq
or 120 or 12 or 1200 or 600 or 24 oe density, counting.

squares, oe) or for a
or correct method to
work out the total area
(31x10)+ (22x20) + (0.9 % 10) less than 40 calls (by
or 31+ 44+ 9(=84) using freq density,
or 84 or 8.4 or 840 or 420 or 168 oe counting squares, oe).
Allow one error
Mift  For a correct fraction
B B B0 o 8 ﬂe[ﬂc 2 oe,or % 0 where
120 12 1200 24 600 24 12 b
a <120 oeand
b> 84 0e
70 Al cao

Total 3 marks





image21.jpeg
Working [Answer [ Mark Notes
26+20(=13) or 3 | MI Any one frequency density (without
3.6%10 or 3.3x10 or 1x30 or contradiction) or
36 0r 33 or 30 or eg lem’=5or
26 { 1 clear association of area with frequency
130! 5]
26+3.610+3.3x10 + 1x30 or| MI Any fully correct complete method:
26+36+33+30or condone one error in bar width or bar height
1
625x or A
(130+180+165+150) * 5. 125 Al

Total 3 marks.
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Question ‘Working Answer | Mark Notes
@ | 6+10+80r 2 |MI Orfor 1 (small) square =
1 1 1 0.1or
1255 +20x -+ 16x S or 48x0.5or ) square = 2.5 or
600.1+100%0.1+800.1or 240x0.1 For 6, 10 and 8 marked
gt correctly on the diagram
24x2.5+4x2.5+32x2.50r 9.6x2.5
24 Al
(®) 5075,10450,5“,33“3“;“% 2 [ M1 Fora vertical line at Time

S4or18or
180 (small) squares or 180 % 0.1 o
7.2 (big) squares or 7.2 x 2.5

=87

87

Al

o
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Question ‘Working Answer | Mark Notes
Tem * Tom squase = 2.5 people or 2 M
@ | 1large square = 10 people or
4.8 on axis corresponding fo fop
0f 2025 bar or
Correct scale marked on vertical
axis or
10 small squares = 1 person oe
31 AT
® | Freqdensifies 7 |MI 2 comect Fequency
38/10 (=3.8). 63/15 (=4.2), 24/30 densities or
=08 1 of the 3 bars comrectly
drawn
AT All3 bars correctly

drawn

Total 4 marks
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Working Answer | Mark Notes
c.g. 8.8 % 5 (=44) M | for finding area of 50 —

55 bar
cg.34%10(34) 72 % M1 | for method to find total
20 (=144) + 8.8 x 5 (=44) + area

(condone two errors)

M1 | (dep on M2) for
complete method
22 4 [AlL

Total 4 marks
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‘Question ‘Working Answer | Mark Notes
) 10 2 |MI O bar of height 40
772247 0 wrong width

Correct bar Al
[O) 5 T [B1
Total 3 marks
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‘Question Working Answer | Mark Notes
® x5 or 13 xZor 12x753 M or any coreet 1 m correet position aad o extors|
or 15 =2 (runners) indicated.
o 2 |m
® ‘Missing blocks = 6o, 10cm. Jea 2 [B)  3comcibiodks  BI 1ord comeetblocks.
© 06x20+08x30" MI (parttionng blocks)
or3x A -5x3 (tme x i's) {must se clear evidence that fd values used).
or 450008 450 small squares
6] 2 |Aleso
Total 6 marks.
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Question

Answer

Mark

Notes

Any30f25.3,24.08

Correct histogram

50 100 150 200 250 300 350 400

M1 for any two
correct fd
calculations
can be implied
by any two
correct
frequency
densities or any
two correct bars

Al forany 3
FDs correct
(can be implied
by at least 3
correct bars)

Al fora fully
correct
histogram

SC:B2All
four bars of
correct width
with heights in
the correet ratio
(B1 for 3 bars
of correct width
with heights in
the correct
ratio)

Total 3 marks
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